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B=10% [ERFFoiR { (Fitk) + (BhA) F — {(EfFoR (FA) x(10.110) [1EFELE] ]
+8% (82) [EEFiFtiR { (Bitk) + (Bhd) F — {EFFEiR (FA) x(8.7108) [1AKmEIHE] + ]
+8% [FFiseR { (k) + (FoA) r — {EEFistiR (BtiA) x(8.7108) [1HFKEIE] T ]
+5% [FFseR { (k) + (FoA) ¥ — {EEFistiR (BtiA) x(5.7105) [1AFXEE] ]
+3% [ERfiTER { (Fidk) + (Bod) F — {BEFFR (BhA) x(3.7103) [IAEXEE] + ]
BREERU .
A=10% [EBF55L { (Fitk) + (FA) } — {(EBFisEL (BhA) /110 UNEE6AIATEHE] x10 [1AXmIE] + ]
+8% (82) [EE®iFtL { (Bitk) + (BhA) > — (%5t (Fid) /108 [NMEEE6MIATEIIE] x8 [1MKBIIE] + ]
B=10% [ER#i7oiR { (Bitk) + (BhA) F — {(EFFoiR (Fid) x(10.110) [1EFHELE] ]
+8% (B) [EEFFTiIR { (Bitk) + (BhA) » — {EFiFoiR (FhA) x(8./108) [1AkKEEIE] + ]
2IEMAU LOEREEOEREDIRS
XEERRTTIC 0 ERRSNDBAETMMEL T, 0 ERFTD
14%5-100(7)~(12)F [1000MKEBMEEA]
1BROSEDOFEEDIZS :
E o =
TSIDEE 1 100.0
0 DIFE : ZEHH
JAFRDBE 1 0.0
(BAH I DHBEMBEX D (COHFTRTR. TOMDEZERBEX D (ITZHET D)
2IEMAU LOEREEOEREDIRS
XEREETTIC 0.0 ERFRSNDHAREMEET. 0.0 EFRRID
1455-100(7)~(12)F (1000 HMEEA]
1EBEHDBEDOFEEDES | I
2IEMAU LOFEESOFEEDIZS .
{3&5-1 (2R—>) (37)FDERETHERS-1 (2R—) (20)F : ZE4H
{3%5-1 (2R—>) (37)FDEETHIRS-1 (2R—) (20)FU% : O
1BHOBEDFEEDES : O
2IEAU LOEEESOEEEDIES
{3%5-1 (2R—2) (37)FDERETHERS-1 (2R—) (20)F: O
4&R5-1 (2R—>) (37)FDEREETHMIRS-1 (2R—) (20)FRS : ZE4H

FEXD LS =

BT EER_B =

KEBIETELE A -

BAERITLDS LT IREMES

SRR R Z2H (EEAND)

ERRERS FIEHMEIX THRIT] (BIEAR)

<& Z=H (EEAND)

<& Z=H (EEAND)

¥aE = (BEEAD)

HREES = (BEEAD)

W35 LIRITOETEELSES Z= (BEEAD)

BERRE =M (BERAD)

AL e DHEMRSBEAERE] O [REERTE] 970 [HEBELE HE+TE ]
RIETEAES DHBEMERFERTE] O [REERE] 970 R4 _BEES]

WRIBETEEI0RDOEHREE
I TIESE33ZD2DEHREE

ZH (EEAND)
ZH (EEAND)
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HEHRBEEB_ROHAER

] =E
ARUARAERR

RNEEDREREDMMADEE_3%ERAD

RNEEDBEREDMMMDEE_4%ERAD

ARREEDREFDMMDER_6.3%ERD

ARREEDREFDMMDER_6.24%EMAD

ARREEDREFDMMDER_7.8%ER D

AN EEDREFOMMOFADEETER

FESRE AN (TR D SIAIHMODEE_6.3%:EH >

FERBEANCARDSIAIHEDER_7.8%ERA D

FRERBEANCARDSHAHmDERDEETER

HENER

(11)DAER_3%EA T

(11)DHER_4%;EFSY

(11)DHER_6.3%iEASY

(11)DHER_6.24%:EA5>

(11)DHER_7.8%:iEASY

BEEIHE R DR

(17)DAER_FE LT DBEE I R DIEE

(17)DAER_AFERFE AN DRIEF Xl (C 7D HER

#S FEA

1

10

11

12

13

14

15

16

17

18

19

ARIEER : (1=1-10D(1)F
RSB : (1%4-10D(1)F
EEEES D :

ARIEER : (=1-200(1)-1A
RSB : 1%4-200(1)-1A
EEIEERL ;

Zoi (&)
EEEES D :

ARIEER : (11-200(1)-1B
RSB : 15%4-200(1)-1B
EEIEERL ;

Zoi (0&ETE)
EEIEES D :

ARIEEH : (121-200(1)-1C
RSB : 154-200(1)-1C
BB ;

7 (0%JTE)

ARUEEBL : (4R1-10D(1)-1D
B EERL : 14R4-10D(1)-1D
ARUEEB : (4R1-10D(1)-1E
EISS SRR : 14R4-10D(1)-1E
ARUEEB : (4R1-10D(1)-1F
B EERL : (4R4-10D(1)-1F
EEIEES D :

ARIEEH : (1251-200(1)-2C
RSB : M (0%3E)
EEIEERL ;

71 (0%BTE)

ARIER : (2=1-10D(1)-2E
ESEH : M (0%23E)
ARIZERL : (1=1-10D(1)-2F
ESEH : M (0%3E)
ARIEERL : (E1-10D(2)F
RISERL : (HF4-1D(Q2)F
EEEES D :

ARIEERL : (HE1-200(2)A
RSB : (%4-200(2)A
EEIEERL ;

7 (0%/TE)
EEIEES D :

ARRIERRL : (E1-200(2)B
RSB : (1%4-200(2)B
BB

7 (0%B/TE)
EEIEED D :

ARIERRL : (E1-200(2)C
RIS ERRL : (1%4-200(2)C
BB ;

7 (0%B/TE)

ARIEERL : (4E1-10D(2)D
RIS ERRL : (4%4-100(2)D
ARIERRL : (E1-10D(2)E
RSB : (1%4-1D(2)E
ERIEH : (FR1-10(5)F
ESEB : (E4-10D(5)F
ERIER : (121-100(5)-1F
ESEB : (E4-10D(5)F
ERIER : (1251-100(5)-2F
EISERL : 2 (0%237TE)
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W75 HBERDRTRE S 12D HENEE

W75 HERDRIRLE £ 132 HBEEA_4%EA D

w75 HERDORIRLE £ 10 2 HBEE_6.3%EAD

75 BERDRURE 12 S HENEE_6.24% K07 .8%EAD

20

21

22

23

ARIEH : (HE1-10(13)F
RISIREL : [9554-10D(13)F
EEEESD |
ARIEB : (1%1-200(13)B
RISIEEL : (1%4-200(13)B
BEERL |
Zoi (&)
EBEESD |
ARIEB : (1% 1-200(13)C
RISIEEL : [4%4-200(13)C
EBEERL |
Zoi (&)
ARIER : (1 1-10(13)E
SRR : [9554-10D(13)E
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